The Level 6 Guides
Background
When making a call, the decision to make a call that one is ‘bigger’ than the other back in the populations is clear if the shift is big enough:
The shift is big enough if there is no overlap of the boxes

The shift is big enough if at least one of the medians is outside the overlap
So what happens if both medians are within the overlap?  We have found that over multiple samples of approximately 30, the medians of each of the samples can swap around within the overlap as we take repeated samples. The swapping around between the two medians suggests that there is no clear direction of the shift, that the shift is not big enough, and: 

·  it is too close to make a call in this situation because the shift is not big enough. 
But we have seen that in larger samples, where both medians are within the overlap, there are times when one median can be consistently higher than the other.  This brings us to the question:

· How big does the shift have to be before we can make a call, when both medians are inside the overlap?
Guides for making a call at level 6
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Age-14: the 3/4-1/2 rule
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If the median for one of the samples lies outside the box for the other sample
(e.g. “more than half of the B group are above three quarters of the A group”)

make the call that B tends to be bigger than A back in the populations
[Restict to samples sizes of between 20 and 401in each group]

Age-15: distance benveen medians as proportion of “overall visible spread”
4 —] 1
B | i
!
dist. batw: medians

“overallvisible spread”

Make the call that B tends to be bigger than A back in the populations

if the distance between medians is greater than about ...
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1/3 of overal visible read for sample sizes of around 30
—

1/5 of over visible gread for sample sizes of around 100

[Conld also use 110 of overall visible spread for sample sizes of azouad 1000]

Age-16: based on informal confidence intervals for the population median

Draw horizontal line.





Sample size

n= 30

If the difference in the medians is more than 1/3 of the overall visual spread then we would claim that B tends to be bigger than A back in the populations (or A tends to be smaller than B)

n=100

If the difference in the medians is more than 1/5 of the overall visual spread then we would claim that B tends to be bigger than A back in the populations (or A tends to be smaller than B)

n=1000

If the difference in the medians is more than 1/10 of the overall visual spread then we would claim that B tends to be bigger than A back in the populations (or A tends to be smaller than B)
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